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QUESTION 1

When is the Extension section in a horizontal pattern executed?
A. As part of the post sensor processing script

B. After the Identification sections

C. As part of the port scan

D. Before the Identification sections

Correct Answer: B

Reference: https://docs.servicenow.com/bundle/quebec-it-operations-management/page/product/service-
mapping/task/modify-pattern-using-extensions.htmi

QUESTION 2

A network device has both an SSH port and an SNMP port open. Discovery tries the SSH probe first and it fails. This
triggers the SNMP probe, which succeeds. Discovery uses SNMP first for subsequent discoveries on that device. What
discovery functionality allows the above to happen?

A. Classification

B. Credential affinity

C. MID Server affinity

D. IP service affinity

Correct Answer: D

Reference: https://docs.servicenow.com/bundle/paris-it-operations-management/page/product/discovery/
concept/c_GetStartedWithDiscovery.html

QUESTION 3

What does the MID Server need to collect vCenter events?
A. vCenter Event Collector extension

B. MID SNMP Trap Listener extension

C. Firewall

D. vCenter probes

Correct Answer: A

Reference: https://docs.servicenow.com/bundle/quebec-servicenow-platform/page/product/mid-
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server/concept/c_VCenterEventProcessorExtension.html

QUESTION 4

Which of the following pattern operations query targets? (Choose two.)
A. WMI Query

B. Merge Table

C. Get Process

D. Parse Variable

Correct Answer: AC

QUESTION 5

For a pattern operation, which of the below choices could be a valid replacement for ? (Choose three.)
$IfTable.InstancelD

A. [3]
B. [X]
C. [and]
D.[]

E. [
F.[

Correct Answer: AEF
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